E%(rc:’;.¢ (0.4 S

ol

a’) X3 —x" = 200
K = .‘i/?c"--l»—?_ao
ey = 3/x* azoo
/(—/‘l > = 16
x, = [ otrzea = L.C04
K = 3/6,4“,_1'4—2»4 = é.zs-é:
3 3¢5t e = L .207 = €202
) {S ﬁfrﬂsl’»;.‘-g
%4 <3¢ mrrrzae = €°2°C roo &
E xercise 10.4 S Q 2,3,4,58
29: p(p+) =100 N PCPr) =100
P +p = 100 Pr+p =100
pTE 160 —p £ =160 —p™
P = m
IpnN = J'o""/’n
Lebk f,:‘\

-
1 e

2

n

PJ: [teo —a.su =

f

liwwe—q - 9.5239

JIoo-‘l.9‘34\ = a. §i

2.5173

= A5



~
60 — £

(2]

$O
X
n

T-L\v‘S
= - (F (‘Mv]f-.
Le€E (=1 f| = 100 ~& = 19 ;oes L
f - loo — 4% = -~2L( o
2

z - 2\
(60 —(~2¢1))? = —~6&o

)
w
I\

root |



